DLN: 93491298003000

2019

OMB No. 1545-0052

Return of Private Foundation

Form 990-PF

Department of the Treasury

Internal Revenue Service

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter social security numbers on this form as it may be made public. ▶ Go to <u>www.irs.gov/Form990PF</u> for instructions and the latest information.

Open to Public Inspection

or	caleı	ndar year 2019, or tax year beginning 01-01-20)19 , aı	nd en	ding 12-31-	2019	
		indation USETTS HEALTH DECISIONS INC			A Employer id	entification numbe	r
111/-	SSACII	OSENIS HEALIN DECISIONS INC			20-8557066		
		street (or P.O. box number if mail is not delivered to street address)	Room/suite		B Telephone nu	mber (see instruction	ns)
М	D BOX :	140/			(919) 387-3666	· 5	,
	or town	, state or province, country, and ZIP or foreign postal code				application is pendin	a check here
	, 110 2				o ii okumpuun	approaction to postation	▶ ∟
i Ch	neck al	_	former public charity	,	D 1. Foreign or	ganizations, check he	ere
		☐ Final return ☐ Amended return				ganizations meeting k here and attach col	
		Address change Name change			•	undation status was t	· _
_	,	rpe of organization: Section 501(c)(3) exempt private				n 507(b)(1)(A), chec	
			e private foundation				
		rom Part II col (c)	☑ Cash ☐ Accru	ual		ation is in a 60-month n 507(b)(1)(B), chec	
		►\$ 858,422	be on cash basis.)				
Da	- T	Analysis of Poyonya and Evnances (The total	<u>, </u>			Γ	(1) Distance and
Pa	rt I	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily	(a) Revenue and expenses per	(b) N	Net investment	(c) Adjusted net	(d) Disbursements for charitable
		equal the amounts in column (a) (see instructions).)	books		income	income	purposes (cash basis only)
	1	Contributions, gifts, grants, etc., received (attach					
		schedule)					
	2	Check ► ✓ if the foundation is not required to attach					
	3	Interest on savings and temporary cash investments					
	4	Dividends and interest from securities	21,235	5	21,235		
	5a	Gross rents					
Revenue	b	Net rental income or (loss)					
	6a	Net gain or (loss) from sale of assets not on line 10	49,059	9			
	b	Gross sales price for all assets on line 6a411,715					
Re	7	Capital gain net income (from Part IV, line 2)			49,059		
	8	Net short-term capital gain				0	
	9	Income modifications					
	10a	Gross sales less returns and allowances 28,171	-				
	b	Less: Cost of goods sold 9,142	 				
	С	Gross profit or (loss) (attach schedule)	19,029				
	11	Other income (attach schedule)	0				
	12	Total. Add lines 1 through 11	89,323		70,294	0	
	13	Compensation of officers, directors, trustees, etc.	114,000				114,00
	14	Other employee salaries and wages					
ses	15	Pension plans, employee benefits	672		336		33
=	16a	Legal fees (attach schedule)					
Expenses	b	Accounting fees (attach schedule)	1,900	+	665		1,23
	C	Other professional fees (attach schedule)	6,326	1	5,489		83
and Administrative	17	Interest	1,898		1		
<u> </u>	18	Taxes (attach schedule) (see instructions)			1,089		
	19	Depreciation (attach schedule) and depletion	1,089	1	1,009		
5	20 21	Occupancy	3,336	5			3,33
2	22	Printing and publications	3,330	1			3,33
	23	Other expenses (attach schedule)	2,178	3	137		2,04
Operating	24	Total operating and administrative expenses.	2,170				_, , , ,
e E		Add lines 13 through 23	131,400		7,717		121,78
5	25	Contributions, gifts, grants paid	34,500	+	- 7- 27		34,50
	26	Total expenses and disbursements. Add lines 24 and	·				
		25	165,900		7,717		156,28
	27	Subtract line 26 from line 12:					
	a	Excess of revenue over expenses and disbursements	-76,577	7			
	b	Net investment income (if negative, enter -0-)	, 0,377		62,577		
	С	Adjusted net income (if negative, enter -0-)				0	
	Danes	work Dadustian Act Natice are instructions				· -	000 BE (2212

Form 990)-PF (2019)				Page 2
Part II	Balance Sheets	Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	Beginning of year (a) Book Value	End o (b) Book Value	f year (c) Fair Market Value
1	Cash—non-interest		17,394	2,984	
2		prary cash investments	63,976	67,810	
3	Accounts receivable		33,570	0,,010	07,020
]		doubtful accounts			
	Pledges receivable				
4	•				
_		doubtful accounts •			
5					
6		om officers, directors, trustees, and other		0	
_		s (attach schedule) (see instructions)		0	
7		ans receivable (attach schedule) ▶			
		doubtful accounts		0	
\$ 8		e or use	1,774	3,230	3,230
Assets	Prepaid expenses a	and deferred charges			
₹ 10a	Investments—U.S.	and state government obligations (attach schedule)			
b	Investments—corp	orate stock (attach schedule)	781,237	685,429	784,398
C	Investments—corp	orate bonds (attach schedule)			
11	Investments—land	, buildings, and equipment: basis 🕨			
	Less: accumulated	depreciation (attach schedule) ▶		0	
12	Investments-mort	gage loans			
13	Investments—othe	r (attach schedule)		0	
14	Land, buildings, an	d equipment: basis ▶4,900			
	Less: accumulated	depreciation (attach schedule) ► 4,900	1,089	0	0
15	Other assets (desc	ribe >)	0	0	0
16	Total assets (to b	e completed by all filers—see the			
	instructions. Also,	see page 1, item I)	865,470	759,453	858,422
17	Accounts payable a	and accrued expenses			
18	Grants payable				
§ 19					
≅ 20		, directors, trustees, and other disqualified persons		0	
Liabilities 20 21		er notes payable (attach schedule)		0	
☐ ²²		sscribe •)	0	0	
23	•	dd lines 17 through 22)		0	
				-	
S S		follow FASB ASC 958, check here ▶			
<u> </u>	-	es 24, 25, 29 and 30.			
[24		donor restrictions	865,470	759,453	
등 25	Net assets with do	nor restrictions			
or Fund Balance	Foundations that	do not follow FASB ASC 958, check here 🕨 🗌			
<u></u>	and complete line	es 26 through 30.			
	Capital stock, trust	principal, or current funds			
Assets 28 28 28 28 28 28 28 28 28 28 28 28 28	Paid-in or capital s	urplus, or land, bldg., and equipment fund			
Š 28	Retained earnings,	accumulated income, endowment, or other funds			
29 29	Total net assets	or fund balances (see instructions)	865,470	759,453	
Ž 30	Total liabilities a	nd net assets/fund balances (see instructions) .	865,470	759,453	
Part II	I Analysis of Cl	nanges in Net Assets or Fund Balances			
1 Tot	tal net assets or fund	balances at beginning of year—Part II, column (a), line	e 29 (must agree with er		
		on prior year's return)		. 1	865,470
	ter amount from Part			. 2	-76,577
		uded in line 2 (itemize)		. 4	788,893
		n line 2 (itemize) ▶		5	29,440
		balances at end of year (line 4 minus line 5)—Part II.		. 6	759,453

(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse; or common stock, 200 shs. MLC Co.)					How acquire P—Purchas	ᆈᄓ	(c) Date acquired	(d) Date sold	
	·	·		,	D—Donatio	n (r	no., day, yr.)	(mo., day, yr.)	
1 a CHARLES SCHWAB - SEE	ATTACHED ST	ATEMENT			Р	:	2019-01-01	2019-12-31	
b CHARLES SCHWAB - SEE	ATTACHED ST	ATEMENT			Р		2018-01-01	2019-12-31	
c INVESCO DB COMMODIT					Р		2018-01-01	2019-12-31	
d INVESCO DB COMMODIT	Y INDEX TRACE	(ING - GAIN FROM S	CHEDUL	E K-1	Р		2018-01-01	2019-12-31	
e									
(e)	_	(f)			g)			h)	
Gross sales price	تا ا	epreciation allowed (or allowable)			ther basis nse of sale			r (loss)) minus (g)	
	7,158	(or allowable)	0	pius expe		,243	(e) plus (i)	-1,085	
a b 39	98,050		0		354			43,637	
					334	0		5,502	
	1,005		0			0		1,005	
d	1,005		9			-		1,003	
e									
Complete only for assets	s showing gain i		ned by t					l)	
(i)		(j) Adjusted basis		•	k) of col. (i)	,		h) gain minus less than -0-) or	
F.M.V. as of 12/31/69		as of 12/31/69			(j), if any			om col.(h))	
a	0	. ,	0		(3),	0			
b	0		0			0		-1,085 43,637	
	0		0			0		5,502	
	0		0			0		1,005	
e								•	
	l .	ſ	If gain.	also enter in Pa	art I. line 7	\neg			
2 Capital gain net income	or (net capital	loss)	If (loss)	, enter -0- in P	art İ, line 7	} _			
						1 2		49,059	
3 Net short-term capital									
If gain, also enter in Pa in Part I, line 8	rt I, line 8, colu •	mn (c) (see instructi	ions). If	(loss), enter -0-		} _ 3		-1,085	
Part V Qualification	Indox Costio	n 4040(a) for B	aducad	Tay on Not	Investment	Tacom			
_		n 4940(e) for Re					<u> </u>		
(For optional use by domestic p	orivate foundation	ons subject to the se	ction 494	10(a) tax on ne	: investment ir	icome.)			
If section 4940(d)(2) applies, le	eave this part bl	ank.							
Was the foundation liable for th	o costion 4042	tay on the distributa	ble amo	int of any year	in the base no	riod?	□ v.	es 🔽 No	
If "Yes," the foundation does no					in the base pe	i lou :	L 16	25 110	
1 Enter the appropriate ar				•	making anv er	ntries.			
(a)		(b)					(d)		
Base period years Calendar year (or tax year beginning in)	Adjusted qua	lifying distributions	Net val	(c) ue of noncharitabl	e-use assets	(00	Distribution rati ol. (b) divided by co		
2018		112,801			929,961	(00	i. (b) divided by C	0.121296	
2017		112,001			323,301			0.121250	
2016									
2015									
2014									
2 Total of line 1, column (d)					2		0.121296	
3 Average distribution ratio	•				_	-		0.121230	
number of years the four						3		0.121296	
4 Enter the net value of no	ncharitable-use	assets for 2019 from	n Part X,	line 5		4		899,091	
5 Multiply line 4 by line 3						5		109,056	
6 Enter 1% of net investm	ent income (1%	of Part I, line 27b)			[6		626	
7 Add lines 5 and 6					[7		109,682	
8 Enter qualifying distribut						8		156,285	
If line 8 is equal to or gre	eater than line 7	, check the box in Pa	art VI, liı	ne 1b, and com	plete that part	using a 1	1% tax rate. Se	e the Part VI	
instructions.								QQQ-BE (2010)	

Page **6**

Pa	rt VII-B	Statements Regard	ing	Activities for Which	Form 4720 May Be	Required (ontinue	d)				
5a	During the	year did the foundation p	ay o	r incur any amount to:							Yes	No
	(1) Carry	on propaganda, or otherw	ise a	ttempt to influence legisl	ation (section 4945(e))?	1	Yes	J	NI.			
	(2) Influe	nce the outcome of any sp	ecific	public election (see sect	tion 4955); or to carry	Ĺ	⊥ Yes	•	NO			
	on, di	rectly or indirectly, any vot	er re	gistration drive?		[٦.,					
	(3) Provid	le a grant to an individual	for tr	avel, study, or other sim	ilar purposes?	L [⊢ Yes		No			
		le a grant to an organization				ا ط	⊥ Yes	•	No			
	in sec	tion 4945(d)(4)(A)? See in	struc	tions			٦.,		No			
		le for any purpose other th				ı	_ Yes	•	No			
		tional purposes, or for the			* **		٦	. 🖈	No			
b	If any ans	wer is "Yes" to 5a(1)-(5),	did a	nv of the transactions fa	il to qualify under the ex	ا ceptions descri	∐ Yes bed in	V	No			
	•	ns section 53.4945 or in a		•		•				5b		
	=	ons relying on a current n		= =			. ▶		1			
c	-	wer is "Yes" to question 5a		-					J			
_		se it maintained expenditu			•		_					
		ttach the statement requir				· · ·	_ Yes	Ш	No			
6a	•	undation, during the year,		•	, ,	ime on						
O a				ive any runus, unechy or	manectry, to pay premit	uiiis oii I	_					
b		undation, during the year,			lirectly on a personal be	nefit contract?	_ Yes	✓	No	6b		No
b		6b, file Form 8870.	pay	premiums, unectry or mo	inectly, on a personal be	ment contract:		•		-05		140
7a		ne during the tax year, was	tho	foundation a party to a r	robibited tax shelter tra	ncaction? [_					
b	•	id the foundation receive a					_ Yes	✓	No	7b		
8	•	ndation subject to the sect		•				•		75		
0		rachute payment during th										
	excess ha	-					Yes_	Ш	No			
Pa	rt VIII	Information About C	ffic	ers, Directors, Trust	tees, Foundation Ma	anagers, Hig	hly Pai	d Eı	mplo	yees,		
		and Contractors										
1	List all of	ficers, directors, trustee		oundation managers ar b) Title, and average	(c) Compensation	. See instructi (d) Contri			1			
	(a) Na	me and address	'	hours per week	not paid, enter	employee ben				Expen		
	(,			devoted to position	-0-)	deferred co				ther al	lowand	ces
See	Additional D	ata Table										
2	Compens	ation of five highest-pai	d en	ployees (other than t	hose included on line :	1—see instruc	tions). I	f no	ne, e	nter "	NONE.	."
				(b) Title, and average		(d) Contri	butions t	0				
(a)	Name and a	address of each employee	paid	hours per week	(c) Compensation	employe				Expens		
	mo	ore than \$50,000		devoted to position		plans and compe		1	01	ther all	owanc	es
NON	 E					Compe	isacion					
11011	_											
						+						
						-						
Tota	I number of	f other employees paid ove	er \$5	0,000			<u> </u>					
									For	rm 99 0	D-PF ((2019

Form 990-PF (2019)		Page 7
Part VIII Information About Officers, Directors, True and Contractors (continued)	ıstees, Foundation Managers, Highly Paid E	Employees,
3 Five highest-paid independent contractors for professions	al services (see instructions). If none, enter "NO	NE".
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
DAVID B CLARKE	ADMINISTRATION	114,000
103 DUVEGAN CT APEX, NC 27502		
	_	
Total number of others receiving over \$50,000 for professional service	es	0
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year. I		
organizations and other beneficiaries served, conferences convened, research pa		Expenses
1 HEALTH CARE PROXY PROGRAM - SEE ATTACHED STATEMENT		23,464
2 HEALTH DECISIONS RESOURCES GRANT PROGRAM - SEE ATTACK	HED STATEMENT	54,750
3 PROXY PARTNERS SKILLS PROGRAM - SEE ATTACHED STATEMEN	Т	78,071
4		
Part IX-B Summary of Program-Related Investment	ts (see instructions)	
Describe the two largest program-related investments made by the foundation	n during the tax year on lines 1 and 2.	Amount
1 N/A		0
2		
All other program-related investments. See instructions.		
		-
Total. Add lines 1 through 3		0
		Form 990-PF (2019)

2a |

2b

626

2c

3

4

5

6

7

1a

1b

2

3a 3b

4

5

626

44,329

44.329

44.329

156,285

156,285

155,659

Form 990-PF (2019)

626

Tax on investment income for 2019 from Part VI, line 5.

Distributable amount before adjustments. Subtract line 2c from line 1.

Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1. . .

Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26.

Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4

Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:

Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,

Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment

Income tax for 2019. (This does not include the tax from Part VI.). . .

Qualifying Distributions (see instructions)

Amounts set aside for specific charitable projects that satisfy the:

the section 4940(e) reduction of tax in those years.

2a

3

4 5

6

1

2

3

4

5

b

Part XII

Part XIIII Undistributed Income (see instruc	tions)			
	(a) Corpus	(b) Years prior to 2018	(c) 2018	(d) 2019
Distributable amount for 2019 from Part XI, line 7				44,329
2 Undistributed income, if any, as of the end of 2019:				
a Enter amount for 2018 only				
b Total for prior years: 20, 20, 20				
3 Excess distributions carryover, if any, to 2019:				
a From 2014				
b From 2015				
c From 2016				
d From 2017				
e From 2018				
f Total of lines 3a through e	67,226			
4 Qualifying distributions for 2019 from Part				
XII, line 4: ► \$156,285				
a Applied to 2018, but not more than line 2a				
b Applied to undistributed income of prior years (Election required—see instructions)				
c Treated as distributions out of corpus (Election required—see instructions)	0			
d Applied to 2019 distributable amount				44,329
e Remaining amount distributed out of corpus	111,956		·	

179,182

179,182

Page 9

Form **990-PF** (2019)

5 Excess distributions carryover applied to 2019. (If an amount appears in column (d), the

a Corpus. Add lines 3f, 4c, and 4e. Subtract line 5 **b** Prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed. **d** Subtract line 6c from line 6b. Taxable amount —see instructions e Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount-see instructions f Undistributed income for 2019. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2020 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions) . . .

6 Enter the net total of each column as

9 Excess distributions carryover to 2020.

Subtract lines 7 and 8 from line 6a.

10 Analysis of line 9: a Excess from 2015. **b** Excess from 2016. c Excess from 2017. .

d Excess from 2018.

e Excess from 2019.

indicated below:

same amount must be shown in column (a).)

67,226

111,956

1a	If the foundation has received a ruling or determination letter that it is a private operating foundation, and the ruling is effective for 2019, enter the date of the ruling.						
b	Check box to indicate whether the organizati	•	-	cribed in section	4942(j)(3) or	4942(j)(5)	
	Enter the lesser of the adjusted net	Tax year		Prior 3 years	() () () () () ()	,	
	income from Part I or the minimum	(a) 2019	(b) 2018	(c) 2017	(d) 2016	(e) Total	
	investment return from Part X for each	(4) 2013	(B) 2010	(6) 2017	(u) 2010		
h	year listed						
	Qualifying distributions from Part XII, line 4 for each year listed						
d	Amounts included in line 2c not used directly for active conduct of exempt activities						
е	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c						
3	Complete 3a, b, or c for the alternative test relied upon:						
а	"Assets" alternative test—enter:						
	(1) Value of all assets						
	(2) Value of assets qualifying						
h	under section 4942(j)(3)(B)(i) "Endowment" alternative test— enter 2/3						
	of minimum investment return shown in Part X, line 6 for each year listed						
c	"Support" alternative test—enter:						
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)						
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)						
	(3) Largest amount of support from an exempt organization						
	(4) Gross investment income						
Pa	Supplementary Information assets at any time during the			oundation had s	\$5,000 or more i	n	
	Information Regarding Foundation Mana- List any managers of the foundation who hav before the close of any tax year (but only if NONE	e contributed more they have contribute	ed more than \$5,000)). (See section 507	(d)(2).)	1	
b	List any managers of the foundation who own ownership of a partnership or other entity) of NONE				arge portion of the		
2	Information Regarding Contribution, Gra	ant, Gift, Loan, Scl	nolarship, etc., Pro	grams:			
	Check here ► ☑ if the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. to individuals or organizations under other conditions, complete items 2a, b, c, and d. See instructions						
а	The name, address, and telephone number of	or e-mail address of	the person to whom	applications should	be addressed:		
	DAVID B CLARKE EXECUTIVE DIRECTOR PO BOX 1407 APEX, NC 27502						
b	The form in which applications should be sub			•			
	Application criteria, form with list of necessa	ry attachments, ava	ilable at <masshealt< th=""><th>thdecisions.org/gran</th><th>ts-information></th><th></th></masshealt<>	thdecisions.org/gran	ts-information>		
C	Any submission deadlines:						
	No fixed application period. Applications acce	epted and reviewed	anytime.				
d	Any restrictions or limitations on awards, suc	ch as by geographic	al areas, charitable f	ields, kinds of institu	itions, or other		

Grants made only to 501(c)(3) organizations with missions consistent with that of Massachusetts Health Decisions, as described on the Grants - Information website page.

Part XIV Private Operating Foundations (see instructions and Part VII-A, question 9)

PC

PC

THE MIRIAM HOSPITAL 8 THIRD ST 2ND FLOOR PROVIDENCE, RI 02906

VOLUNTEERS IN MEDICINE 777 MAIN ST STE 4

GREAT BARRINGTON, MA 02130

SEE ATTACHED

SEE ATTACHED

15,000

5,000

Total	 	▶ 3a	34,500
b Approved for future payment			

Part XV	I-A Analysis of Income-Producing	Activities				
Enter gross	s amounts unless otherwise indicated.	Unrelated b	usiness income	Excluded by section	512, 513, or 514 (d)	(e) Related or exempt function income
1 Program	n service revenue:	Business code	Amount	Exclusion code	Amount	(See instructions.)
-						
_	and contracts from government agencies					
	ership dues and assessments store is on savings and temporary cash					
investr	, ,					
	nds and interest from securities			14	21,235	
	ntal income or (loss) from real estate:					
	-financed property lebt-financed property					
	ntal income or (loss) from personal property					
	investment income					
8 Gain o invento	r (loss) from sales of assets other than				40.054	
	come or (loss) from special events:			18	48,054	1,005
	profit or (loss) from sales of inventory					19,029
	revenue: a					
	al. Add columns (b), (d), and (e)				69,289	20,034
	Add line 12, columns (b), (d), and (e)			13		89,323
Part XV	orksheet in line 13 instructions to verify calcu I-B Relationship of Activities to the		hment of Evem	nt Purnoses		
Line No.	Explain below how each activity for which			· · · · · · · · · · · · · · · · · · ·	ed importantly to	
▼	the accomplishment of the foundation's exinstructions.)				purposes). (See	
10	THROUGH THE HEALTH CARE PROXY PROGE					
LO LO	ONLINE COPIES OF IT OWN PUBLICATIONS PROXY IN ENGLISH, BRAILLE, AMERICAN SI					
10	LANGUAGES. ON ITS WEBSITE, MHD PROVI			<u> </u>		
10	INFORMATION ON THESE PUBLICATIONS TO					
10	AT NO COST. SEE https://masshealthdecisio	ons.org/.				

orm 990)-PF (2	(019)											Pa	ge 13
Part >	(VII	Information Re Exempt Organi		ransi	fers To a	ind Transa	ction	s and	Relatio	nships With No	ncharit	able		
		anization directly or in han section 501(c)(3)	directly enga								ion 501		Yes	No
. , .		om the reporting foun	-	,		, -			_					
(1)	Cash.											1a(1)		No
(2)	Other	assets									. [1a(2)		No
b Other	r trans	actions:												
(1)	Sales	of assets to a nonchari	itable exempt	t orga	nization .							1b(1)		No
(2)	Purcha	ases of assets from a n	oncharitable	exem	ıpt organiz	ation						1 b(2)		No
		of facilities, equipmen	•								ŀ	1 b(3)		No
٠.,		ursement arrangemen									ŀ	1b(4)		No
		or loan guarantees.									ŀ	1b(5)		No
		nance of services or m			_						.	1b(6)		No
	-	facilities, equipment, n er to any of the above			•						• [1c		No
of the	e good y trans	s, other assets, or sersaction or sharing arra (b) Amount involved	vices given b ngement, sho	y the ow in	reporting f column (d	foundation. If	f the fo f the g	oundati goods,	on receive other asse	d less than fair mar	rket value ived.	e	ngemen	ts
(d) Line is	10.	(B) / imbane mvorved	(c) italic of	Homene	arreable exer	npt organizatio		(4) 50	semperon or	cransiers, transactions	, una snar	ing arra	igemen	
	_						+							
	_						+							
	_						-							
							+							
		dation directly or indire	•		•							ī		
		n section 501(c) (other		1 501(c)(3)) or i	n section 527	· ·			⊔Υ	es 💌	l No		
D IT YE	es, co	mplete the following so (a) Name of organization			l a) Type of organ	nization	1	1	(c) Description	of relatio	nshin		
		(a) Name or organization	,,,,		(2	y type of organ	nzacion	•		(C) Description	TOTTCIACIO	ПЭПТР		
			-					10						
Sign	of my	r penalties of perjury, knowledge and belief preparer has any kno	, it is true, co								ased on a	all infor	mation	n of
Here	*	****				2020-09-30		, k	*****		return	e IRS di		
) –							—)			with th below	e prepa	er shov	vn
	S	ignature of officer or t	rustee			Date		,	Title			str.) 🔽	Yes [□ No
		Print/Type preparer's	name	Prepa	arer's Sigr	nature		Date			PTIN			
										Check if self-		P01232	744	
D=!:!		Susan J McCarthy								employed ▶ 🗹			-	
Paid														
Prepa Use O		Firm's name ► Susa	n J McCarthy	/							Firm's EI	N ►		
Jac U	, , , , ,	Firm's address ▶ 36	Walnut St 2											

Canton, MA 02021

Phone no. (781) 742-7303

Form 990PF Part VIII Line 1 - List all officers, directors, trustees, foundation managers and their compensation (a) Name and address Title, and average (c) Compensation (If (d) Expense account, not paid, enter (e) other allowances hours per week Contributions to (b) devoted to position -0-) employee benefit plans and deferred

			compensation	
DAVID B CLARKE	PRESIDENT	114,000	0	C
PO BOX 1407 APEX, NC 27502	30.00			

PO BOX 1407 APEX, NC 27502	56.66			
JUDITH PRESSER	DIRECTOR	0	0	0
PO BOX 1407	0.50			

PO BOX 1407 APEX, NC 27502	0.50			
CHRISTINE SWANSON	DIRECTOR	0	0	0
PO BOX 1407	0.50			

PO BOX 1407 APEX, NC 27502				
CHRISTINE SWANSON	DIRECTOR	0	0	0
PO BOX 1407 APEX, NC 27502	0.50			
J PETER MASELLI	VICE PRES/TREASURER	0	0	0
DO DOV 1407	0.50			

PO BOX 1407 APEX, NC 27502	0.50			
J PETER MASELLI	VICE PRES/TREASURER	0	0	0
PO BOX 1407 APEX, NC 27502	0.50			
RUTH L FISHBACH	DIRECTOR	0	0	0

	0.50			
RUTH L FISHBACH	DIRECTOR	0	0	0
PO BOX 1407 APEX, NC 27502	0.50			
J PETER MASELLI	VICE PRES/TREASURER	0	0	0

APEX, NC 27502				
RUTH L FISHBACH	DIRECTOR	0	0	0
PO BOX 1407 APEX, NC 27502	0.50			

		_	_	
PO BOX 1407 APEX, NC 27502	0.50			
RUTH L FISHBACH	DIRECTOR	0	0	

APEX, NC 27502				
PAUL MONTGOMERY	CLERK	0	0	
PO BOX 1407	0.50			

APEX, NC 27502

Note: To capture the full content of this document, please select landscape mode (11" \times 8.5") when printing.	

TY 2019 Gain/Loss from Sale of Other Assets Schedule

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

Name: MASSACHUSETTS HEALTH DECISIONS INC

IIIe: MASSACIIC

EIN: 20-8557066

Gain Loss Sale Other Assets Schedule										
Name	Date Acquired	How Acquired	Date Sold	Purchaser Name	Gross Sales Price	Basis	Basis Met hod	Sales Expenses	Total (net)	Accumulated Depreciation
CHARLES SCHWAB - ST -SEE ATTACHED STMT		Purchased			7,158	8,243			-1,085	
CHARLES SCHWAB - LT -SEE ATTACHED STMT		Purchased			398,050	354,413			43,637	
INVESCO DB COMMODITY INDEX TRACKING-BASIS ADJ		Purchased			5,502				5,502	
INVESCO DB COMMODITY INDEX TRACKING - GAIN FROM SCHEDULE K-1		Purchased			1,005				1,005	

DLN: 93491298003000

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -		DLN: 93491298003000				
TY 2019 Other Decreases Sch	TY 2019 Other Decreases Schedule						
	MASSACHUSE 20-8557066	TTS HEALTH DECISIONS INC					
EIN:	20-6557000		1				
De	escription		Amount				
PRIOR PERIOD ADJUSTMENTS - INVESTI	MENTC		7.404				
I MONTENIOS ASSOCIATENTO INVEST	MENIS		7,491				
PENALTIES	MENTS		4,718				
	MEINIS						

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -		DLN	N: 93491298003000		
TY 2019 Other Expenses Sche	dule					
Name:	MASSACHUSET	TS HEALTH DECI	SIONS INC			
EIN:	EIN: 20-8557066					
Other Expenses Schedule		1				
Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes		
DUES	150			150		
FILING FEES	80	80				
MEALS	490			490		
OFFICE EXPENSE	1,401			1,401		

57

PORTFOLIO DEDUCTIONS

efile GRAPHIC print - DO NOT PROCES	SS As Filed Data	<u>-T</u>	DLI	N: 93491298003000				
TY 2019 Other Professional	TY 2019 Other Professional Fees Schedule							
Nam	ne: MASSACHUS	SETTS HEALTH DEC	CISIONS INC					
EI	EIN: 20-8557066							
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes				
CHARLES SCWAB INVESTMENT ADVISORY	5,489	5,489	1					

687

150

Category	Amount	Net Investment Income	Adjusted Net Income	Dist for P
CHARLES SCWAB INVESTMENT ADVISORY	5,489	5,489		

PENNER WEBSITE DESIGN WEBSITE 687

MAINTENANCE

DEBORAH BARNES PROGRAM SERVICES 150

efile GRAPHIC print - DO NOT PR	OCESS As Filed Data	-	DL	N: 93491298003000
TY 2019 Taxes Schedule	2			
	Name: MASSACHUS EIN: 20-8557066		CISIONS INC	
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
2018 FORM 990 PF	938			
2019 FORM 990 PF	960			

Part II, Line 10b: Investments

charles schwab

Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Account Number Statement Period
December 1-31, 2019

Investment Detail - Cash and Bank Sweep

Cash	Starting Balance	Ending Balance	% of Account Assets
Cash ⁿ	651.16	(319.42)	
Total Cash	651.16	(319.42)	
(:	% of Account
Bank Sweep	Starting Balance	Ending Balance	Assets
Bank Sweep ^{x,z}	97,209.74	68,129.85	%8
Total Bank Sweep	97,209.74	68,129.85	%8
Total Cash and Bank Sweep		67,810.43	%8

Investment Detail - Equities

	Quantity	Market Price	Market Value	Account Assets	Unrealized Gain or (Loss)	Estimated Yield	Estimated Annual Income
Equities	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
AMGEN INC.	100.000	241.07000	24,107.00	3%	3,962.96	2.40%	580.00
SYMBOL: AMGN	100.0000	201.4404	20,144.04	09/13/18	3,962.96	474	Long-Term
J P MORGAN CHASE & CO	100.000	139.40000	13,940.00	2%	5,054.10	2.58%	360.00
SYMBOL: JPM	100.0000	88.8590	8,885.90 03/21/17	03/21/17	5,054.10	1015	Long-Term
MERCK & CO. INC.	200.000	90.95000	18,190.00	2%	4,210.80	2.41%	440.00
SYMBOL: MRK	200.0000	69.8960	13,979.20	09/13/18	4,210.80	474	Long-Term
						Accrue	Accrued Dividend: 122.00

% of

Massachusetts Health Decisions, Inc.

Part II, Line 10b: Investments

Form 990-PF arles

Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Account Number Staten

Statement Period December 1-31, 2019

Investment Detail - Equities (continued)

	Quantity	Market Price	Market Value	% of Account Assets	Unrealized Estimated Gain or (Loss)	Estimated Yield	Estimated Annual Income
Equities (continued)	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
MICROSOFT CORP	200.0000	157.70000	31,540.00	4%	11,816.51	1.29%	408.00
SYMBOL: MSFT	100.0000	64.7650	6,476.50	03/21/17	9,293.50	1015	Long-Term
	100.0000	132.4699	13,246.99	06/14/19	2,523.01	200	Short-Term
Cost Basis			19,723.49				
PROCTER & GAMBLE	100.0000	124.90000	12,490.00	1%	1,339.43	2.38%	298.36
SYMBOL: PG	100.0000	111.5057	11,150.57	06/14/19	1,339.43	200	Short-Term
SOUTHERN CO	100.0000	63.70000	6,370.00	<1%	207.14	3.89%	248.00
SYMBOL: SO	100.0000	61.6286	6,162.86	10/25/19	207.14	29	Short-Term
WALT DISNEY CO	100.000	144.63000	14,463.00	2%	9,191.50	1.21%	176.00
SYMBOL: DIS	100.000	52.7150	5,271.50	10/18/12	9,191.50	2630 Accr	30 Long-Term Accrued Dividend: 88.00
Total Equities	0000.006		121,100.00	14%	35,782.44		2,510.36
	7	Total Cost Basis:	85,317.56				

Total Accrued Dividend for Equities: 210.00

Estimated Annual Income ("EAI") and Estimated Yield ("EY") calculations are for informational purposes only. The actual income and yield might be lower or higher than the estimated amounts. EY is based upon EAI and the current price of the security and will fluctuate. For certain types of securities, the calculations could include a return of principal or capital gains in which case EAI and EY and EY and EAI are not promptly updated to reflect when an issuer has missed a regular payment or announced changes to future payments, in which case EAI and EY will continue to display at a prior rate. Part II, Line 10b: Investments

Form 990-PF

Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Account Number

Statement Period December 1-31, 2019

Investment Detail - Exchange Traded Funds

	Quantity	Market Price	Market Value	% of Account Assets	Unrealized Gain or (Loss)	Estimated Yield	Estimated Annual Income
Exchange Traded Funds	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
ALPS ALERIAN MLP ETF	500.000	8.50000	4,250.00	×1%	(2,788.15)	9.17%	390.00
SYMBOL: AMLP	200.000	14.0763	7,038.15	03/04/15	(2,788.15)	1763	Long-Term
INVESCO FTSE RAFI US	200.0000	126.71000	25,342.00	3%	10,612.40	2.40%	609.44
1000 ETF SYMBOL: PRF	200.0000	73.6480	14,729.60	05/24/13	10,612.40	2412	Long-Term
INVESCO FTSE RAFI US	200.0000	136.71000	27,342.00	3%	6,815.62	2.02%	554.15
1500 SMALL-MID ETF SYMBOL: PRFZ	200.0000	102.6319	20,526.38	03/04/15	6,815.62	1763	Long-Term
ISHARES CORE MSCI EAFE	250.0000	65.24000	16,310.00	2%	1,526.69	2.69%	440.15
ETF	125.0000	59.6400	7,455.00	08/12/14	200.00	1967	Long-Term
SYMBOL: IEFA	125.0000	58.6264	7,328.31	03/04/15	826.69	1763	Long-Term
Cost Basis			14,783.31				
ISHARES CORE S&P 500	100.0000	323.24000	32,324.00	4%	12,346.64	1.98%	640.87
ETF SYMBOL: IVV	100.0000	199.7736	19,977.36	03/10/16	12,346.64	1391	Long-Term
ISHARES GOLD ETF	2,000.0000	14.50000	29,000.00	3%	3,766.20	A/N	A/N
SYMBOL: IAU	2,000.0000	12.6169	25,233.80	09/20/17	3,766.20	832	Long-Term
SCHWAB FUNDA EMG MKTS	400.0000	29.84000	11,936.00	1%	1,922.58	2.84%	339.56
LARGE COM ETF	200.0000	23.8100	4,762.00	03/04/15	1,206.00	1763	Long-Term
SYMBOL: FNDE	200.0000	26.2571	5,251.42	06/20/17	716.58	924	Long-Term
Cost Basis			10,013.42				

Part II, Line 10b: Investments

Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Account Number

Statement Period December 1-31, 2019

Investment Detail - Exchange Traded Funds (continued)

	Quantity	Market Price	Market Value	% of Account Assets	Unrealized Gain or (Loss)	Estimated Yield	Estimated Annual Income
Exchange Traded Funds (continued)	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
SCHWAB FUNDAMENTAL INL	800.0000	28.92000	23,136.00	3%	1,177.64	4.84%	1,120.80
LARGE COM ETF	300.0000	26.9278	8,078.34	03/04/15	597.66	1763	Long-Term
SYMBOL: FNDF	200.0000 300.0000	24.6080 29.8614	4,921.60 8,958.42	09/15/16 09/20/17	862.40 (282.42)	1202 832	Long-Term Long-Term
Cost Basis			21,958.36		•)
SCHWAB FUNDAMENTAL INTL	400.0000	33.25000	13,300.00	2%	1,374.68	2.22%	296.20
SMAL COM ETF	300.0000	28.8720	8,661.60	05/20/15	1,313.40	1686	Long-Term
SYMBOL: FNDC	100.0000	32.6372	3,263.72	06/20/17	61.28	924	Long-Term
Cost Basis			11,925.32				
SCHWAB INTERNATNAL SMALL	250.0000	34.65000	8,662.50	1%	(302.80)	2.75%	238.58
CAP EQY ETF SYMBOL: SCHC	250.0000	35.8612	8,965.30	09/20/17	(302.80)	832	Long-Term
VANGUARD FTSE EMERGING	200.0000	44.47000	8,894.00	1%	749.10	5.02%	447.28
MARKETS ETF	100.0000	40.7940	4,079.40	03/04/15	367.60	1763	Long-Term
SYMBOL: VWO	100.0000	40.6550	4,065.50	06/20/17	381.50	924	Long-Term
Cost Basis			8,144.90				
VANGUARD GLBAL EX US	200.0000	59.09000	11,818.00	1%	548.20	24.68%	2,917.68
REAL EST ETF IV SYMBOL: VNQI	200.0000	56.3490	11,269.80	03/04/15	548.20	1763	Long-Term
VANGUARD REAL ESTATE	100.0000	92.79000	9,279.00	1%	4,905.10	4.12%	382.76
ETF SYMBOL: VNQ	100.0000	43.7390	4,373.90	08/30/10	4,905.10	3410	Long-Term

Massachusetts Health Decisions, Inc.

Form 990-PF

Part II, Line 10b: Investments

MASSACHUSETTS HEALTH DECISIONS Schwab One® Account of

December 1-31, 2019 Statement Period

Account Number

Investment Detail - Exchange Traded Funds (continued)

	Quantity	Market Price	Market Value	% of Account Assets	Unrealized Gain or (Loss)	Estimated Yield	Estimated Annual Income
Exchange Traded Funds (continued)	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
VANGUARD SMALL CAP ETF	100.0000	165.64000	16,564.00	2%	3,471.73	2.15%	
SYMBOL: VB	100.0000	130.9227	13,092.27	12/15/16	3,471.73	111	Long-Term
Total Exchange Traded Funds	5,700.0000		238,157.50	78%	46,125.63		8,734.59
	1	Total Cost Basis:	192,031.87				

Estimated Annual Income ("EAI") and Estimated Yield ("EY") calculations are for informational purposes only. The actual income and yield might be lower or higher than the estimated amounts. EY is based upon EAI and the current price of the security and will fluctuate. For certain types of securities, the calculations could include a return of principal or capital gains in which case EAI and EY will continue to display at a overstated. EY and EAI are not promptly updated to reflect when an issuer has missed a regular payment or announced changes to future payments, in which case EAI and EY will continue to display at a

Investment Detail - Mutual Funds

Bond Funds	Quantity	Market Price	Market Value	% of Account Assets	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
FEDERATED TOTAL RETURN BOND FD INST CL SYMBOL: FTRBX	9,047.5580	11.07000	100,156.47	12%	10.84	98,078.17	2,078.30
METROPOLITAN WEST TOTAL RETURN BOND I SYMBOL: MWTIX	9,301.4730	10.93000	101,665.10	12%	11.02	102,485.82	(820.72)
MFS EMERGING MKTS DEBT FD CL I SYMBOL: MEDIX	1,294.3450	14.86000	19,233.97	2%	14.95	19,350.46	(116.49)

NEU.Y

Part II, Line 10b: Investments



Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Statement Period December 1-31, 2019

Account Number

Investment Detail - Mutual Funds (continued)

Bond Funds (continued)	Quantity	Market Price	Market Value	% of Account Assets	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
T ROWE PRICE US BOND ENH ♥ ANCED INDEX FD INV SYMBOL: PBDIX	8,928.7760	11.24000	100,359.44	12%	11.27	100,627.67	(268.23)
TIAA CREF HIGH YIELD FD INSTL SYMBOL: TIHYX	2,437.3830	0.89000	24,105.72	3%	9.76	23,782.35	323.37
Total Bond Funds	31,009.5350		345,520.70	41%		344,324.47	1,196.23
Equity Funds	Quantity	Market Price	Market Value	% of Account Assets	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
BARON EMRG MKTS FD INST SYMBOL: BEXIX	793.0140	14.75000	11,696.96	1%	11.88	9,424.79	2,272.17
HARDING LOEVNER EMERGING MARKETS ADV CL SYMBOL: HLEMX	195.6240	59.19000	11,578.98	1%	47.44	9,279.57	2,299.41
MFS INTL INTRINSIC VALUE I SYMBOL: MINIX	423.6340	47.76000	20,232.76	5%	38.16	16,164.03	4,068.73
VANGUARD INTL GROWTH FD ADMIRAL SHARE SYMBOL: VWILX	185.0030	102.79000	19,016.46	2%	73.29	13,559.42	5,457.04

Part II, Line 10b: Investments



Schwab One® Account of MASSACHUSETTS HEALTH DECISIONS

Statement Period December 1-31, 2019

Account Number

Investment Detail - Mutual Funds (continued)

Equity Funds (continued)	Quantity	Market Price	Market Value	% of Account Assets	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
VIRTUS KAR INTL SMALL ¢ CAP I SYMBOL: VIISX	897.8400	19.04000	17,094.87	2%	17.07	15,327.28	1,767.59
Total Equity Funds	2,495.1150		79,620.03	%6		63,755.09	15,864.94
Total Mutual Funds	33,504.6500		425,140.73	20%		408,079.56	17,061.17
					Total Inves	Total Investment Detail	852,208.66
					Total Ac	Total Account Value	852,208.66
					Tota	Total Cost Basis	685,428.99

Transaction Detail - Purchases & Sales

Bond Funds Activity

Settle Date	Settle Date Trade Date Transaction	Transaction	Description	Quantity	Unit Price	Total Amount
12/09/19	12/09/19	12/09/19	T ROWE PRICE US BOND ENH	11.8400	11.2700	(133.44)
			ANCED INDEX FD INV: PBDIX			
12/31/19	12/31/19	12/31/19 12/31/19 Reinvested Shares	T ROWE PRICE US BOND ENH 20.8080 11.2400 (233.88)	20.8080	11.2400	(233.88)
			ANCED INDEX FD INV: PBDIX			

Total Bond Funds Activity

(367.32)

Massachusetts Health Decisions, Inc. EIN: 20-8557066 Form 990-PF Summary of Direct Charitable Activities Included on Part IX-A, Line 1

ACTIVITY ONE:

HEALTH CARE PROXY PROGRAM: Continuing professional education and consultation for nurses, physicians, admission and social service staff on use of advance directives; public education and consultation; distribution of forms and materials in English and 15 non-English languages including Braille. Benefit to 2000 persons. MHD continues its effort to make its print materials available in American Sign

Language (ASL) for people who are deaf, deaf-blind, and late-deafened. Most MHD materials are included on the MHD website at no cost to the public or clinicians.

MHD's website became active online in October 2016. Site includes extensive educational materials for members of the public and health care professional on advance directives and other issues of health care decision making. See: https://masshealthdecisions.org

ACTIVITY TWO:

MHD's small-grant program, 'HEALTH DECISIONS RESOURCES,' was begun in 2015. Funded by a charitable gift, the program helps nonprofit health care and health education organizations with small "just in time" grants for public benefit project and programs. All grants fall within and further MHD's own charitable mission guidelines. The MHD website provides complete application information, including a descriptive list of recently funded projects as examples. MHD funded projects totaling \$34,500 in 2019. Complete information on applying for grants, an application form, and contact information are easily available on the MHD website, as well as contact information for acquiring all information in hard copy on request. See: https://masshealthdecisions.org/grants-information

ACTIVITY THREE:

"PROXY PARTNERS", a 30-hour blended training curriculum being developed, will be available at no cost to any nonprofit organization that wants to increase its volunteer services to its members, patients, resident or clients. The training package, including all presentation materials, videos, Leader's Manual, student exercises, and access to all online learning will be offered at no cost. The curriculum will enable volunteers in existing organizations to serve people who want help thinking through their health care decisions. After 2+ years of consultation with more than 100 organizations, MHD believes the service will be useful to home health and hospices, elder service groups, group living organizations such as public and senior housing communities, faith groups, and a variety of organizations already providing outreach services to people living independently, persons with disabilities, newly single persons, and persons unfamiliar with the health care system and their own participation in it.

Massachusetts Health Decisions, Inc.

EIN: 20-8557066 Form 990-PF

Part XV: Supplementary Information

Line 3 Grant and Contributions Paid During the Year Line 3a:

Miriam Hospital
 Center for Prisoner Health and Human Rights
 Third Street, 2nd floor
 Providence, RI 02906

Fdtn status of recipient: PC

Purpose of Grant: To gather and publish existing state-level data to illustrate the barriers Rhode Island communities face in achieving successful reentry and health outcomes of justice-involved Rhode Island citizens and identify data gaps that prevent the state from making informed system reforms.

Amount: \$15,000

Volunteers in Medicine, Berkshires777 Main St, Ste 4Great Barrington, MA 01230

Fdtn status of recipient: PC

Purpose of Grant:

Funding from Health Decisions Resources (HDR) will allow Volunteers in Medicine Berkshires to strengthen and formalize its orientation program for all providers, staff and students by developing materials that are culturally appropriate to the diverse population served by Volunteers in Medicine.

Amount of grant: \$5,000

3. North Carolina Health News PO Box 2573 Chapel Hill, NC 27515

Fdtn status of recipient: PC

Health Decisions Resources will help support for NCHN's innovative "Generations Beat" which focuses on health care issues as they occur along one's lifespan and their impact at different age milestones. The grant will fund approximately half of this position for a second year and be the primary sponsor of 25 stories.

Amount of grant: \$14,500